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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [[ setVI_ETcl’,

"setVI_fgRec’,

"setVI_VN',

"s1SetVI']]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’,

"FVIPH

ir—o’', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-15 0
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P3-15

BYiE) | GEBATIK () | ERE (EA/H) | EREE(B/R) | XS SRR

07:20 288 150.0 28.875 FH| 70HA@07:20 KRENFEF (RATRELES)
07:55 288 150.0 28.875 FA| FiHA@07:55 KENFEF (KFAAEESS)
08:50 288 150.0 28.875 FH| FHA@08:50 KENFEF (KRA1ERELES)
09:35 288 150. 0 28. 875 FB| FiHA@09:35 KRENFEF (FKAEHE)
10:10 288 150.0 28. 875 FA| FiHR@10:10 RHEF (RKAEZRS)
10:45 288 150.0 28.875 FA| FiHA@10:45 KRHEF CRAZRS)
11:15 288 150. 0 28. 875 FB| FiHRe11:15 KREEF (KAFHE)
11:45 288 150.0 28. 875 FA| FiHR@11:45 KRHEF CKRAEZRS)
12:15 288 150.0 28.875 FA| FHA@12:15 KEIEF (KRATERESS)
12:45 288 150.0 28. 875 PA| TiHA@12:45 KRHEF CRAKZRS)
13:15 288 150.0 28.875 FA| FiHAe13:15 KEEF (KAEESS)
13:45 288 150.0 28.875 FA| FhHA@13:45 KEIEF (KRS
14:15 288 150. 0 28. 875 M| FiHfe14:15 KEIEF (RAFBRSE)
14:50 288 150.0 28.875 1| FHERe14:50 REAIZEF (REAEZRER)
15:25 288 150.0 28.875 FA| FHA@15:25 KEFEF (KRS
16:05 288 150. 0 28. 875 M| FiHAe16:05 KEEF (RAFEESE)
16:55 288 150.0 28. 875 ml|  FHERe16:55 RAFEF (REAEZRER)
=21t 4896.0 (17)%) 2550. 0 3EUHIKEC: 2080.0, PH: 5.6

[E&EC 6290.0 K5, EiLFAKECAE&idEE R
FERECE (2007. 0 vs 6290. 0) 145




FRV (ml plant-1)

ET (ml/hr/plant)

P3-15_0, Day=62 (2025-06-01)
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P3-15

BYiE) | GEBERTIC (RD) | EBE (BAH/FK) | BREE (BF/R) | X8 ERR

06:30 283 150.0 28.875 FH| 1BRi%@06:30 Bzh (KAERE)
07:30 283 150. 0 28.875 FB| {Ri&@07:30 Bzl (FAFERSE)
08:30 283 150.0 28. 875 FH| 1Bi%@08:30 BHah (RAEREE)
09:30 283 150.0 28. 875 FA| {RRi&@09:30 Bzl (kAfEEEE)
10:30 283 150.0 28. 875 FB| {Ri%@10:30 Bzl (FAFERSE)
11:30 283 150.0 28. 875 FB| {Ri&@11:30 B3 (GRAFERSE)
12:30 283 150.0 28. 875 FA| {Ri&e12:30 Bzl CGRAEEE)
13:50 283 150.0 28.875 [X’M| 1Rige13:50 Bzh (REAEESE)
15:15 283 150.0 28.875 |/hfu| {Ri&e15:15 Bz (REAEHSE)
21t 2547.0 (9%) 1350. 0 #UHREC: 2080.0, PH: 5.5

TERRHLER 2 STEEART (187.0 :

ZRIAKFREBRE153. 0 ml.
large discrepency for begining water status (305:27.0), set to 305 ml.

Ei&PH (7.17) /&

[E&EC 6737.0 K&, EINFAIKECAE&idEE R
7 [ERECE (2087.0 vs 6737.0) 145

153.0), AlEEHT—@ L XA HS




P3-15_0, Day=61 (2025-05-31)
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P3-15

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS SRR

06:20 283 150.0 28.875 FH| 1BRi%@06:20 Bzh (KAERSE)
07:00 283 150.0 28. 875 FA| 1Bi%@07:00 Bzh (kAMEEEE)
07:40 283 150.0 28. 875 FA| 1{Ri%@07:40 Bz (RAHERESE)
08:35 283 150.0 28.875 FH| 1RRi%@08:35 Bz (KAERSE)
09:35 283 150.0 28.875 FA| {RRi%@09:35 Bz (kAfEEE)
10:25 283 150.0 28. 875 FH| 1Bi&@10:25 Bzh (RAEREE)
11:10 283 150.0 28. 875 FA| {Ri&e11:10 Bz CGRAEEE)
11:45 283 150. 0 28.875 FH| {Ri%et11:45 Bz (KAEES)
12:20 283 150.0 28. 875 FH| 1Ri%e12:20 B3 (kBERSE)
12:55 283 150.0 28. 875 FA| {Ri&e12:55 Bzl (GkAEEE)
13:30 283 150.0 28.875 FA| 1Ri&@13:30 B3 (RAEREE)
14:15 283 150.0 28. 875 FA| 1Bige14:15 Bzh (RAEREE)
15:10 283 150.0 28. 875 FH| 1Ri%@15:10 Bzh (RABERSE)
16:10 283 150.0 28.875 FE| 1BRi%@16:10 Bzh (kAFERSE)
17:25 283 150.0 28. 875 PR 1Big&e17:25 Bzh (RAEREE)
Bit| 4245.0 (15%%) 2250.0 3 WF%EC: 2080.0, PH: 5.5

TERRHLER 2 STEEARTF (184.0 :

BRIASSRRIZERE150. 0 ml.
EBi&PH (7.17) RS

[ REC 6813.0 K&, il A RECRE&IMIKER
#H[ERECE (2220.0 vs 6813.0) i35

150.0), FAEEHT—@ % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=60 (2025-05-30)

T g e g g S S B S

VI, V¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET L 3000
. 2400 2208 =
924 1700 80861 2000 °
£
50 4 L 1000 &
80 Warning: lcol [FVI',| "FVO’'] missing 80
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n
0.8
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0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.5 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
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T
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33 A

32 -
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43.
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m=530, FV0=0
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m=530, FV0=0
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P3-15

FfiE) | EBIATK (FD) | ERE (BEA/4) | BEREE(B/R) | XS ERE

07:00 283 150.0 28. 875 RS {Ri&@07:00 Bz (REERSE)
07:30 283 150.0 28. 875 sl {Ri&e07:30 Bal (REERHE)
08:00 283 150.0 28.875 | 1Rige08:00 Bzh (KREEEER)
08:45 283 150.0 28. 875 RS {Ri%e08:45 Bz (REMERESE)
09:25 283 150.0 28.875 | =| {Ri&@09:25 Bz (KREEESE)
10:05 283 150.0 28.875 | =| {Ri&e10:05 Bz (REEHE)
10:45 283 150.0 28.875 | =| {Ri&e10:45 Bz (REAEHE)
11:20 283 150.0 28.875 |Z=| {Bi&e11:20 Bz (REEESE)
12:00 283 150.0 28.875 (& =| 1Rige12:00 B3h (REAEESE)
12:35 283 150.0 28.875 | =| {Ri&e12:35 Bz (REAEHE)
13:05 283 150.0 28. 875 el Rige13:05 Bal (REEESE)
13:35 283 150.0 28.875 B 1Rige13:35 Bzh (REEESE)
14:05 283 150.0 28.875 BS| 1Ri%e14:05 Bz (GGREMRESE)
14:35 283 150.0 28. 875 S| Ri%e14:35 Bz (REERSR)
15:05 283 150.0 28.875 5| {BRige15:05 Bz (RPERKSE)
15:35 283 150.0 28.875 BS| 1Ri%e15:35 B (GREMEESE)
16:15 283 150.0 28.875 | =| {Rig&e16:15 Bz (KREAEHSE)
17:10 283 150.0 28.875 FH| 1Ri%@17:10 B3h (GRABERSE)
24it]5094.0 (18%%) 2700. 0 3E S KEC: 2080.0, PH: 5.5

FEREHEME STEAEARST (184.0 : 150.0), AIEEAT—@%E XAHE5
ZRIAKFRERE150. 0 ml.

large discrepency for begining water status (278:30.0), set to 278 ml.
E;&PH (7.33) R

[E;REC 6607.0 K&, EiFAIRECAE &M AR

#[ERECE (2323.0 vs 6607.0) 35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=59 (2025-05-29)
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Warning: lcol ["WC1',  "WC2'] missing
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0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.5 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
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P3-15

FfiE) | EBIAT (FD) | ERE (BEA/) | BEREE(B/R) | XS ERE

06:55 283 150.0 28. 875 BE| 1Ri%e06:55 B3 (RF{EEEE)
07:30 283 150.0 28. 875 sl {Ri&e07:30 Bal (REERHE)
08:20 283 150.0 28. 875 | 1Rige08:20 Bzh (KREEER)
09:00 283 150.0 28. 875 RS {Ri%@09:00 Bz (REERSE)
09:35 283 150.0 28. 875 RS 1Ri&e09:35 Bah (REEESE)
10:15 283 150.0 28.875 BE| Rige10:15 Bzl (REAERE)
11:00 283 150.0 28. 875 el Rige11:00 Bz (REAERSE)
11:40 283 150.0 28. 875 el Rige11:40 Ba) (REAEESE)
12:15 283 150.0 28.875 el Rige12:15 Bz (REAERSE)
12:45 283 150.0 28. 875 B Rige12:45 Bz (REAERE)
13:15 283 150.0 28. 875 | Rige13:15 Bal (REAEESE)
13:45 283 150.0 28.875 BE| Rige13:45 B (REAEHSE)
14:15 283 150.0 28.875 BS| 1Rige14:15 Bz CGREEESE)
14:45 283 150.0 28. 875 S| Ri%e14:45 Bz (REERRSR)
15:15 283 150.0 28.875 el Rige15:15 Ba) (REAEHSE)
15:45 283 150.0 28.875 BS| 1Ri%e15:45 Bz CGREEESE)
16:15 283 150.0 28. 875 S| Ri%el16:15 B (RF{EREE)
16:50 283 150.0 28. 875 el Rige16:50 Bl (REAEHSE)
24it]5094.0 (18%%) 2700. 0 3E S KEC: 2080.0, PH: 5.5

TERRHLER 2 STEEARTF (184.0 :

BRIASCRRIZERE147. 0 ml.
BI&PH (7.17) RS

[ /REC 6360.0 K&, il A RECRE & IMIKER
1Bl RECE (2400. 0 vs 6360.0) 33 /=

147.0), AlEEHT—R % XA HS




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=58 (2025-05-28)
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.5

Warning: lcol ['PHB’,| 'PHC’'] missing
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